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s1.BEBEL
MEEEIHEEAR
% R WO BANT B L
AR e R m3 0.467
T Tk o 4 m3 0.467 BT B
G D gy | TR
(m3) (0.551) (2 240,185 Fp)
R WLER m3 0.467 R
AR TR m3 0.006
R Lk VT
(5L st (03 e
BHEHALERL G F7200)
(m3) (0.007) (2 240,185 Fp)
R WLER m3 0.006 R
AR ET R m3 0.005
R)~—F A MLV
W b m3 0.005 A E
(m3) (0.006) (2 240,185 Fp)
ColLBR& 3
R m3 0.473




MEESEIREMHE

B T35 Bk o v - BRI & S Te)

(D) Bt HE

TR

(VAR Mg (mm) | & () [ TRE (mm) | GEATEL | RS (m3) 1 (m2)
T
PRI - SEAT - AT
16|G1-G2[H R T Ifi 100 100 50 1 0. 00050 0.010
17|G1-G2HIPRIR T i 100 500 50 1 0. 00250 0. 050
18|G1-G2H PRI T ifi 100 300 50 1 0. 00150 0. 030
39|G3-GARI AR T i 100 200 50 2 0. 00200 0. 040
40[G3-GAR AR AR T ifi 100 100 50 1 0. 00050 0.010
41|G3-GAR AR T ifi 100 150 50 2 0. 00150 0. 030
42|G3-GA IR IR T 1 100 100 50 1 0. 00050 0.010
53|GA-G5[AIARAR T i 100 200 50 1 0.00100 0. 020
55[G5-GO I AR AR T 1 170 25220 100 1 0. 42874 4. 287
56|G5-G6[HIARAR T i 100 100 50 1 0. 00050 0.010
57|G5-G6[FI AR T i 100 100 50 1 0. 00050 0.010
58|G5-GO[HI AR T i 50 100 50 1 0. 00025 0. 005
59 | bR A HH PR AR T 100 100 50 1 0. 00050 0.010
79[G1 AT 100 200 50 1 0.00100 0. 020
80{G1 A i 200 400 50 1 0. 00400 0. 080
81[G1 A 100 100 50 1 0. 00050 0.010
82[G1 A 100 100 50 1 0. 00050 0.010
83[G1 AT 200 200 50 1 0. 00200 0. 040
87{G5 AT 300 300 50 1 0. 00450 0. 090
90 S LA A7 1E IF 150 150 50 1 0.00113 0.023
92| CIEAMTIE ] 100 200 50 1 0.00100 0. 020
93| C LA T 1E IF 100 100 50 1 0. 00050 0.010
94| C1EAMT IE ] 100 100 50 1 0. 00050 0.010
99| C2 AT I IF] 100 100 50 1 0. 00050 0.010
102 | C2HBEMT IE ] 100 250 50 1 0. 00125 0. 025
106 | CIAHAT IE [fri 100 100 50 1 0. 00050 0.010
108 | CIBEMTIE IH] 100 200 50 1 0. 00100 0. 020
112 | S2A¥MT IE [f 400 400 50 1 0. 00800 0. 160
ERTET 0. 46737 5. 060
1484 0 & Et 0. 46737 5. 060

X EH T oOWEEERS ORBERERTNIL, 50mme HEET 5,

7272 L. Gh-GOEIEkA &% R D A 100mm & -5,




(2) AR
(1) BeRA S 5 1
V=
(3) IR 1
(2) BEPE RIS L1y
W1=
TR A (2 2 )

W2= W1X1.18

(4) B EE
(2) BFHEE I LW

V=

0. 467

0. 467

0. 551

0. 467

fr

i

m3

m3

m3

m3



B LIE@I 7 vy - BB Z & E 720

TR

i

(1) FeEFtE
NLTE g (mm) | B & (mm) [ RS (mm) | BT K% (m3) H 5 (m2)
FERT
LisTa]
3| R F i 100 200 30 1 0. 00060 0. 020
Wt 0. 00060 0. 020
PRI - ZEAMT - AT
91 [CLURAMT IE T 250 100 30 1 0. 00075 0. 025
RIR - ZEAMT - BT 0. 00075 0. 025
FET AR 0.00135 0. 045
TET
A
4|AIIE BT CEE 100 200 30 1 0. 00060 0. 020
AMFEEE 0. 00060 0. 020
P
LLPIRBIHI X T Xy b 100 1200 30 1 0. 00360 0.120
PG 0. 00360 0.120
THLEEF 0. 00420 0. 140
1iEY Y &5t 0. 00555 0.185
(2) et =
() EEFHEELY
V= = 0.006 m3
(3) Wrmm fE1E A &
Q)R EIZE LW
Wi= = 0. 006 m3
Wi e E A (v AR ETe)
W2= W1X1.18 = 0. 007 m3
(4) BBt
Q) EFEEIZFE LW
V= = 0.006  m3




A ~—F A NEJLZIVEA T
(1) FeEFtE

TR

(AT M (mm) [ B S (mm) | RS (mm) | EPETEL 1 FE (m3) [ (m2)
T
A1~P1
85(G4 LA I 150 600 10 1 0. 00090 0. 090
86 (G4 A 150 800 10 1 0.00120 0. 120
107 |C3RMTIE IH 200 400 10 1 0. 00080 0. 080
111 |CARHAMT IE i 600 300 10 1 0. 00180 0. 180
A1~P13} 0. 00470 0. 470
EETARH 0. 00470 0. 470
IR E R 0. 00470 0. 470
(2) FxEH R
(D) FEFHERELY
V= = 0.005 m3
(3) WrimETE A i &
Q) RFHEEICFE LW
Wi= = 0. 005 m3
Wrim A & (v AR5 Te)
W2= WI1X1.18 = 0. 006 m3




TRIDHE
§2. VUbhHET

VUbhhiEEIHEELTE
4 FR % AL g fii B
i T 3E m 62.3
EAB kg 11.5 0.043kg/A
KEEATE
S— Lk kg 6.3 |FEE HEE
(kg) 8.631 |(mA=%&+0.375T2)
REFEAZE i 267 | Bt A e




TRV -

VUbLhHEIRESE
O ObiE T (REEA TE)
() BEFAERE
U M (ZARFTHR) =30mm X EX X 2mm X 1700 kg/m’
CHEAM(ZRELE) = I X EE X BEE X 1200 kg/n’
L4 Y ga | mamn | voni| Gk [T | Gun
(ALK 5 (mm) |Eé(mm) S ()] it (mm) (m3) (m3) (kg) ) (kg)
ET
A1~P1
25|G2 M7 T 0.20 900 100 1 900 0.000018 0. 000054 0. 092 4 0.022
96 | C2A8H7 1E i 0.20 200 100 1 200]  0.000004 0. 000012 0. 020 1 0.005
109 [CAREHTIE Ifil 0. 30 900 100 1 900 0.000027 0. 000054 0. 092 4 0. 032
Al~P1&+ 2000]  0.000049 0. 000120 0. 204 9 0. 059
E T AR | 2ooo| 0. 000049 0. 000120 0. 204 | 9| 0. 059
L
Al
LAUE S - CRE 0. 50 250 100 1 250[  0.000013 0. 000015 0. 026 1 0.015
2|AUE G 7o CHE 0. 50 200 100 1 200  0.000010 0. 000012 0. 020 1 0.012
3|AIKB B - TEE 0. 50 150 100 1 150]  0.000008 0. 000009 0.015 1 0. 009
Al 600/ 0.000031 0. 000036 0.061 3 0.036
P1
L3|PUABRH (AL{H) 7= ChE 0.20] 1200 100 1 1200]  0.000024 0. 000072 0. 122 5 0. 029
14| PG (AL{H) 7= THE 0.20] 1400 100 1 1400  0.000028 0. 000084 0.143 6 0.034
L8|PUABRA (AL{) 7= ChE 0.20] 2000 100 1| 2000[ 0.000040 0. 000120 0. 204 8 0. 048
23 |PLAG M (AL 7= THE 0. 20 500 100 1 500] 0.000010 0. 000030 0.051 2 0.012
24 |PLAGH (AL 7= CHE 0.20] 2200 100 1| 2200] 0.000044 0. 000132 0. 224 9 0. 053
25 |P LG (AL 7= CTHE 0.20] 1700 100 1 1700{  0.000034 0. 000102 0.173 7 0.041
26 |P LG (AL 7= CHE 0. 20 800 100 1 800[ 0.000016 0. 000048 0. 082 4 0.019
27| PG (AL 7= THE 0. 20 500 100 1 500] 0.000010 0. 000030 0.051 2 0.012
29 |PLAGHI (AL 7= CHE 0. 20 600 100 1 600/  0.000012 0. 000036 0. 061 3 0.014
30| PG (AL 7= THE 0. 20 300 100 2 600]  0.000012 0. 000036 0.061 4 0.014
31|PLAGH (AL 7= CHE 0. 20 500 100 1 500[ 0.000010 0. 000030 0. 051 2 0.012
33| PLAGMI (AL 7= THE 0. 20 800 100 1 800[ 0.000016 0. 000048 0. 082 4 0.019
34|PLAGH (AL 7= CHE 0. 20 600 100 1 600/  0.000012 0. 000036 0. 061 3 0.014
35| PG (AL 7= CTHE 0. 20 800 100 1 800[ 0.000016 0.000048 0. 082 4 0.019
37|PLAGHI (A24AI) 7= CHE 0. 40 150 100 3 450 0.000018 0. 000027 0. 046 3 0. 022
38| PLAG I (A24AI) 7= THE 0. 30 150 100 1 150] _ 0.000005 0. 000009 0.015 1 0. 005
39| PG (A24AI) 7= THE 0.20] 3100 100 1 3100|  0.000062 0. 000186 0.316 13 0. 074
40| PG (A24A)) 7= THE 0.20] 1300 100 1 1300  0.000026 0.000078 0.133 6 0.031
41|P1IGEM! (A24A1) 7= THE 0. 30 400 100 1 400]  0.000012 0. 000024 0. 041 2 0.014
42|P1EGMI (A24A)) 7= THE 0.20] 1000 100 1 1000  0.000020 0. 000060 0. 102 4 0. 024
43|P1IGM! (A21A1) 7= THE 0.20] 1800 100 1 1800]  0.000036 0.000108 0. 184 8 0. 043
44|P1EGII (A24A1) 7= THE 0. 30 200 100 1 200  0.000006 0. 000012 0. 020 1 0. 007
45| PG (A24AI) 7= THE 0. 30 250 100 1 250|  0.000008 0. 000015 0. 026 1 0. 009
46| PG (A24A)) 7= THE 0.20] 1600 100 1 1600  0.000032 0. 000096 0. 163 7 0.038
A7|PIIGM! (A24AI) 7= THE 0.20] 2700 100 1 2700  0.000054 0. 000162 0.275 11 0. 065
48| PG (A24A)) 7= THE 0.20] 1700 100 1 1700{  0.000034 0. 000102 0.173 7 0. 041
49| PG (A24AI) 7= THE 0. 20 800 100 1 800]  0.000016 0. 000048 0. 082 4 0.019
50 | P LI (A24AI) 7= THE 0.20] 1700 100 1 1700{  0.000034 0. 000102 0.173 7 0. 041
51 |PIEMI (A24AI) 7= THE 0.20] 1000 100 1 1000]  0.000020 0. 000060 0. 102 4 0. 024




i

52 |P LG (A2AI) 7= CHE 0.20] 1500 100 1 1500/ 0.000030 0. 000090 0.153 6 0.036
53|P LG (A2AI) 7= THE 0.20] 1500 100 1 1500  0.000030 0. 000090 0. 153 6 0. 036
54 PG (A2 7= CHE 0.20 3900 100 1 3900  0.000078 0. 000234 0. 398 16 0. 094
55 |P LTI (A24AI) 7= T BE 0.20] 1000 100 1 1000/  0.000020 0. 000060 0. 102 4 0. 024
57 PG (A2AI) 7= CHE 0.20] 1600 100 1 1600 0.000032 0. 000096 0.163 7 0.038
58|P LTI (A24AI) 7= T BE 0.20] 3200 100 1 3200]  0.000064 0. 000192 0. 326 13 0. 077
59 |P1G I (A2AI) 7= CHE 0. 20 400 100 1 400|  0.000008 0. 000024 0. 041 2 0. 010
64 |P UGN (A24R1) 7= T BE 0.20] 1400 100 1 1400  0.000028 0. 000084 0.143 6 0. 034
65 |P1G I (ASHI) 7= CHE 0.20 1400 100 1 1400 0.000028 0. 000084 0.143 6 0. 034
67 |P LG (A2I) 7= THE 0.20] 1200 100 1 1200  0.000024 0. 000072 0. 122 5 0. 029
68 |P1G I (A2 7= CHE 0. 20 700 100 1 700/ 0.000014 0. 000042 0.071 3 0.017
69 |P UG (A24R1) 7= T B 0. 20 500 100 1 500/  0.000010 0. 000030 0. 051 2 0.012
72|P LG (A2 7= CHE 0. 20 500 100 1 500/  0.000010 0. 000030 0.051 2 0.012
P1gt 51150| 0.001043 0. 003069 5.216 220 1. 250
A2
7|A2kB G - CRE 0.20 3700 100 1 3700]  0.000074 0. 000222 0. 377 15 0. 089
8| A2 G 7o CHE 0.20] 3900 100 1 3900  0.000078 0. 000234 0. 398 16 0. 094
9|A2KB & 7 TR 0. 20 900 100 1 900/ 0.000018 0. 000054 0. 092 4 0. 022
A2E 8500 0.000170 0. 000510 0. 867 35 0. 205
AR | 59650| 0.001213 | 0. 003579 | 6. 083 | 255| 1. 455
1G4 0 A5 | 62250| 0. 001293 | 0. 003735 | 6. 348 | 267| 1. 550
MIEANE S O 72 & PTIL. 100mm & HEET 2,
(2) i THEE:
(D FEFHRER LY L= 62.3 m
3) v — M VR
(W) HEARER LY W1 = 6.3 kg
=M (r REET)
(m2% 0.37) (HFEEE AT IEERELEE T1-2-09-5)
W2 = WL X 1.37 W2 = 8.631 kg
WIREEASREFERE
REEAZE X, 200~300mnfa MR TR E T 5,
FRE IR, 250mm & LR Z R T 5,
BB, REFEABREIIBLS Y= ZF—FR% ML EET 5,
(D FEFHRER LY N = 267 i
G)EAM BB (MEr 255 Te)
HEAMITREEARENOEME 20X LTEDRETH D,
[EREFEAZBUEY » OEAM  0.043kg/A  THET L, (Evy 7 ZT3HEID)
DS+ 267 X 0. 043 = 11.481 kg
AR = 1.550 kg

SAEAM BRI, 11.481 kg5,




TG
§3. BHEEILFIITEHT

BETILZIVITERIBRESRETR
fi il il il B i A Eis 1t £
KPEEE VAL T
A EE VAL T 1:3 m3 0.012
TR P T
AP T /NI m2 0.278




BEETILINVTRIREHE
HKHEENLHZV T
1:3
X 0
0.004 X3
fFIJ@I
/N TEY)
X i &9

0.090+0.094 X 2

TR

0.012 m3

0.278 m2

11



TR

§4. REMRETL
REREINEERTE
£ R b = <¥iva gy i 2
T LR m2 718
Fma iz LIk
EIRM AR m2 718
IR L 158 AR R
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614 3135 1551 2 1607 4 4575 4 460 7758
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1.27m
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ZEAFREIHENMEHE
(D #EFHEE
a. B
OAL1-PIEER T
TR R IR
S1-C1 4.19
+ 0. 46
C1-c2 4,49
+ 0.69
€2-C3 4.53
+ 0.68
C3-C4 4,87
+ 0. 69
C4-S2 5. 14
+ 0.46

GH-G6[H R AR

S1-C5 3.15
C5-C6 3.13
C6-S52 3. 16

A1-P1 B3 AR05E R hR

18.54
+ 4.20 +  4.21 + 4.23 +
X 6 X 1.166
+ 4.43 + 4.45 + 4.46 +
X 4 X 1.166
+ 4.54 +  4.56 + 4.57 +
X 4 X 1.166 + 0.67 X 4
+ 4.89 + 4.90 + 4.91 +
X 8 X 1.166
+ 5.16 + 5.17 + 5.19 +
X 4 X 1.166
8.52 + 10.44 X 1.029

+ 2.57 X 2 X 1.029
+ 2.88 X 2 X 1.029
+ 2.57 X 2 X 1.029

8.36 X 1.029 + 5.43

@A1-P1EMNT FFlg T i

G1~G5 n=5 SERI MR DG CEME T B
TFlg Fifi  10.32 X 5
66.G7 n=2
TFFlg FmE  11.35 X 2
QAL-PIEEMT T FEIECHET 2
G1~G5H [HiHEHT n=16
Web FH 0.24 X 16
G6~GT7H[EHiMT n=2
Web T i 0.19 X 2

@P1-A2BKHT T

61. 28

0.47 X 3

0.70 X b

0.69 X 1

X 1.166

0.70 X 1

0.47 X 5

X

. 166

. 166

. 166

. 166

. 166

TR

18.

21.

25.

25.

26.

25.

19.

14.

54

69

06

30

82

55

26

.44

.06

.44

03

202.

51.

22.

19 m’

60

70

4.

.84

. 38

4. 22 n?

61.

28 m

LrE At -

341.

99 m’



TR

b. B1A) &
OEHHAIE R AT R DG THEAT S
G1~G5 n=5
Web (2.11 + 2.14) X 1.003X 2 X 5 = 42. 63
Web (0.90 + 2.74 + 2,67 + 274+ 0.90) X 2 X 5 = 99. 50
TFFlgrvd  (0.45 +  0.69 +  0.68 +  0.69 + 0.45) X 1.414 X 2 X 5 = 41.85
FFLgflifi 4.8T X 2 X 5 = 48.170
R ¥ 8 0.20 X 4 X 2 = 1.60
s aaE (0.58 + 0.54) X 2 = 2.24
RCZEAE#ERR: -(0.56 X 0.66 + 0.58 X 0.75) X 2 X 4 = —6. 44
T = 230.08 n’
G6,G7  n=2
Web (2.37 + 2.37) X 1.001 X 2 X 2 = 18.98
Web (1.87 + 3.77 + 1.87) X X = 30. 04
TFlgn/F (.23 +  1.63 + 1.23) X 1.287 X 2 X 2 = 21.06
TRl 4.81 X 2 X 2 = 19. 24
Tt OE 0.18 X 2 X 2 = 0.72
Ak (0.56 + 0.55) X2 = 2.22
ROZEHRHER: —(0.33 X 0.64 + 0.30 X 0.69) X 2 = —0. 84
Y = 9l.42n

OBKTER TR THIETT S
G1~G5HEIREHT n=16
Web, »vF (103 + 0.13 X 1.056 + 0.13 X 1.027) X 2 X 16 e

G6~GT T n=2
Web, »vF  (0.74 +  0.12 X 1.042 +  0.12 X 1.022) X 2 X 2 = 3.95

G1~GhimffiMT n=8
Web 1.27 X 8 = 10. 16
RCZEEHER: —(0.56 X 1.20 + 0.58 X 1.20) X 4 = -5. 47

G6~GToHmfMT n=2

Web 0.93 X 2 = 1.86
ROZEEER: —(0.33 X 0.95 + 0.30 X 0.95) = -0.60
S = 51.53 m’

@ H I i A1-P1 3RS R, P1-A2 b « Tyl sl i
1.27 + 0.78 + 0.69 = 2.74 w’

Ffa & At 375. 77 m®

bmx - BEm AR = 717.76 o



(2) T Hhipg
KR EAICFE C

(3) &R 1 F B
AR 1 0.22 L/m2 (1 ARETp)
Wa= 0.22 X T717.76

TR

717.76 m’

157.9 L

16



§5. WMEITHMLZ - HEMHKI

WEITRZ - BREBKIBESREHER

b

1

il Al ot il H i = X VA iy il B
T A7 7 VN T
t=4cm
* B W=3.0 m# m2 207
t=3cm
g W=3.0 m# m2 207
t=4cm
=)= W=1.4 m&iih m?2 34
t=3cm
Y] W=1.4 mA m2 27
t=6cm(Ave)
g W= 1.4 mA m2 7
e
X T Fa =X W=20cmtl.5mm | m 62
ES s
T =X W=15cm+tl.5mm| m 32
R~ —7-H
(E%ﬁﬁ W=30cm(15em#a %)+ t1.6mm| m 29
T A7 7 IV
kT EEERR G T t=Tcm~12cm m 32
eIl
B B HI T t=7cm~12cm | m2 241
T AT 7 )L MR ALER m3 17
oAb -fE AL m3 0.1
5 AL m3 0.1
WAk T [RNE] BIER m2 241
618
MWK & LG m 25
oy —/LSSEI% LR
i B HAS =5 mm,B=30 mm | m 165
VI =AyyafEldE i PR
St vl i AL B B=150 mm m 165

17



DRUOAE
FRAI77I MBREIHEHE
3 | =1 = BfI = W E
1. PRI7ILNEET REt=40mm, W=3.0 mit2
miE
A1~P1 Tl al= 158.40
P1~A27T iR ald= 48.10
BFt 2= 206.50| m2 207
ZNT
V= 206.50 X 0.040 = 8.26| m3
2. PRI7IVAGHET EEt=30mm,  W=3.0 mi&
EiE
A1~P1 Tl al= 158.40
P1~A27T {8 ald= 48.10
Bit = 206.50| m2 207
LN
V= 206.50 X 0.030 = 6.20| m3
3. FRI7ZILMGHET KREt=40mm, W=1.4 mK&
miE
A1~P1 L7 a2= 27.10
P1~A2_L R4l ad= 7.10
BFt 2= 34.20 m2 34
ZN
V= 3420 X 0.040 = 1.37| m3
4. PRI7ILNEET EEt=30mm, W=1.4 mEK&H
EiE
Al1~P1 LA a2= 27.10
BFt 2= 27.10| m2 27
ZNT
V= 27.10 X 0.030 = 0.81| m3
5. PAI7ILREHET HE[Et=40~80mm(Ave60mm) . W=1.4 m*K &
EiE
P1~A2_L R4l ad= 7.10
T= 7.10| m2 7
ZNT
V= 7.10 x 0.060 = 0.43| m3
6. {RTEEET
8.26 + 6.20
+ 1.37 + 0.81
+ 0.43 = 17.07| m3

18



IRHD
RERIMETEHE
il V&l FE R X1
8 e x st =2 fii
R T W=20cm)
Al P1 /| m 25.30
Al p1 4 | m 24.18
Pl A2 /£ | m 6.81
P1 A2 A | m 6.17
Aitl m 62.46
R T W=15cm)
Al Pl | m 24.99
P1 A2 F [ m 6.69
A5 m 31.68
X iR T ~—2 W=30cm (15cmfa %))
AL~P1: 56, PL~A2: 177 4.70m X 6& FF = m 28.2
PI~A2: 16T 1.20m X Lf&pT = m 1.2
A5 m 29.40

1

19



W1

BEIHEHAE
oAl g = BA{SL = W E

ERYIET T FTRAI7ILNEHERR t=Tcm~12cm

L= 25.00 + 6.70 = 31.70| m 32
IREYIEIT 2 mEYIEl t=7cm~12cm

A= 158.40 + 27.10

+ 48.1 + 71 = 240.70| m2 241
TFAIT7ILRALE

V= 17.07 (BFEIT XY) = 17.07| m3 17
TH-EERE

PIEHIFEE n=18FF

V= 050 x 1.30 x 0.05 = 0.03| m3 0.1
b Ju LB ]

V= #ED = 0.03| m3 0.1




BEBKIHEHE
(DB E
BIR
B BIHI XY
241
(2)FEmTHEAK
618 A/NATNINAT
()P K &
Al-P1 25.1

(3)EkH H Hikt
S5mm/E (s —/LSSES LB E)
B=30mm
A1-P1  0.988+7.214+25.57+9.082+1.317+24.48+24.48+24.31
P1-A2 1.317+9.191+6.800+10.139+1.500+6.2+6.2+6.090

49)vm s H AL
VU2 S SN F YD e
B=150mm
iR B A T

TR

241

25.1

117.4
47.4
164.8

164.8

1
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§6. MMEEENEAT

W1

HELEENRELI BESHEX
¥ &
4 FR O BT
Al P1 A2 A1-P1 | P1-A2 | AFf
KL Hh m 8. 740 11.210] 12.290 - - 32.2
fHHEEEEIE R
e B Hh m - - - 25.870| 6.900 32.8
KC-A20-WGHH 24 5 m 8. 740 - 12. 290 - - 21.0
A 2 AR KC-A30-WGHH 4 m - 11.210 - - - 11.2
SC-A30FH 24 & m - - - 25.870f 6.900 32.8
X% bar 27 U—1b | o ck=24N/mm2 m3 0.682] 0.915[ 0.980] 1.234] 0.329 4.1
SD345 D16 £ 0.055| 0.070] 0.077 - - 0. 20
PAES
SD345 D13 1 - - - 0.103| 0.027 0.13
D16 N 176 224 244 - - 644
XN =T v —
D13 Vi - - - 344 92 436
=Lkt L 1.39 0.39 0.94 - - 2.72
Ry 77 o T OB VR T A L 2.90 0. 81 1.98 - - 5. 69

KOFEMEL, HHEEMIIEEND,

22



ik B E T
LAEA

HEHY

(1) fifff e i AE =

BT

(2) i dE E AR
KC-A20-WGFH 4 5 L

@) #‘Tb=ar 7 U—F
o ck=24N/mm2
Vv = 0.350 X 0.110

(4) Bk

SD345 D16

W = 8740 X 1.560
(B) /BT v F1—

D16 (ctc200)

e 8.740

n = 44

PR ISR 8.740
n = 44 X 2
n = 88 -+

X 2

(6) > — /Lt
TR
vV = 0.710 X
AR
V = 0.700 X

a8

0.041

0.041

0.69

(DN 7T Tk
AR
Vv = 0.710 X
by [ peick
Vv = 0.700 X
aEk

vV = 1.46  +

0.041

0.041

1.44

X 8.740

X 4 /

0. 200

0. 200

88

X 0.020

X 0.020

X 0.050

X 0.050

_|_

1000

0. 359

1000

1000

1000

1000

X

X

X

0.110

1. 200

1. 200

X

8. 740

TR

8.740 m

8.740 m

0. 682 m3

0.055 t

44 K
88 A
44 K
88 A
176 A

0.70 L

0.69 L

1.39 L

1.46 L

1.44 L

2.90 L

23



2. P&

(1) fif e i
BT L =

(2) i dE E AR
KC-A30-WGFH 5 L

@) #‘Tb=ar 7 U—F
o ck=24N/mm2

V o= 0.371 X 0.110 X 11.210 + 0.371 X 0.110
(4) BK755

SD345 D16

W o= 11.210 X 1.560 X 4 / 1000
(5) £/ T > T —

D16 (ctc200)
&A1l 11.210  0.200

n = 56 X 2
BRI 11.210 7 0.200
n = 56 X 2
Al n = 112 + 112
(6) > —/LbF
AR
V = 1.050 X 0.008 x 0.020 X 1000 X 1.200
A H S
V = 0.980 X 0.008 x 0.020 X 1000 X 1.200
At
V = 020 + 0.19
(MR 7T T
AR
V = 1.050 X 0.008 X 0.050 X 1000
A H S
V = 0.980 X 0.008 X 0.050 X 1000
“E

X

11. 210

TR

11.

11.

210 m

210 m

.915 m3

.070 t

56 A
112 A
56 A
112 A
224 A

0.20 L

0.19 L

0.39 L

0.42 L

0.39 L

0.81 L

24



3. A2 H

(1) fif e i
BT L =

(2) i dE E AR
KC-A20-WGFH 4 5 L

@) #‘Tb=ar 7 U—F
o ck=24N/mm2

V = 0.375 X 0.110 X 12.290 + 0.350 X 0.110
(4) BK755

SD345 D16

W o= 12.290 X 1.560 X 4 / 1000
(5) £/ T > T —

D16 (ctc200)
&A1l 12.290  0.200

n = 61 X 2
BRARA 12.290 7 0.200
n = 61 X 2
Al n = 122 + 122
(6) > —/LbF
AR
V = 0.840 X 0.025 x 0.020 X 1000 X 1.200
A H S
V = 0.740 X 0.025 x 0.020 X 1000 X 1.200
At
V = 050 + 0.44
(MR 7T T
AR
V = 0.840 X 0.025 X 0.050 X 1000
A H S
V = 0.740 X 0.025 X 0.050 X 1000
“E

vV = .05 + 0.93

X

12. 290

TR

12.

12.

290 m

290 m

. 980 m3

077 ¢t

61 A
122 A
61 A
122 A
244 A

0.50 L

0.44 L

0.94 L

1.05 L

0.93 L

1.98 L
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4. fEH #A1-P1

(1) fif e i
BT L =

(2) i dE E AR
SC-A30FH 4 i L

@) #‘Tb=ar 7 U—F
o ck=24N/mm2

Vo= 0.265 X 0.090
(4) BK755

SD345 D13

W = 25.870 X 0.995
(5) 2 7 > F1—

D13 (ctc300)

X 2b6.870 +

X 4 /

&A1l 25.870 0.300

n = 8 X 2
FRARA 25.870 7 0.300

n = 8 X 2
Al n = 172 + 172

TR

25.

25.

870 m

870 m

. 234 m3

. 103 t

86 A
172 A
86 A
172 A
344 A
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5. #t H #HiP1-A2

(1) fif e i
i & v

(2) fhifdE EA A
SC-A30AH 4 i

GV #fTBbar 7 V—1h

o ck=24N/mm2

vV = 0.265

(4) BK755
SD345 D13

W = 6.900

(5) 2 7 > F1—
D13 (ctc300)
faef 6.

n

RIS 6.

900

900

TR

6. 900 m

6. 900 m

0. 329 m3

0.027 t

23 A
46 A
23 A
46 A
92 A



TR
§7. BEREZT

BEFEZIHERHE

4 B B HAL e T2

B RS Re-TM %24 5% m2 103




RIHE - 29

BEZREZ IHNEFE
HH R ) Im/1IAYYERme) £ & B¥ | EmfEm2) Net
H—RL—/L(AL~AR)
HRIE R L=26.45+7.74+25.07+6.90-0.35 X 4 64.76 m
P —2AEE 1=26.45+7.74+25.07+6.90+0.264 X 4 67.22 m
FAEASK T Min=18+ EFin=17 35 A&
LY N C 150 X 50 0.50 64.76 1 32.38
B—A - W=350 0.88 67.22 1 59.15
X ® 115 0.33 - 35 11.55

[\l
I

103.08 m2




N
§8. BEKEERET
BEKEEFREIHELIR
i palll A ] i i HALl = T P
HEAHE
HEAK#E P1 PR i B FH 1
HEZKHE A2 GRS =R ] F 1
HEAK R & T
&1 FIT 2
PEAKE
HEKE Pl i 1
PEAKE R E T
m 2.5
M4 B
P& SUS304 t=2.0 mm | S 1
ABE SUS304 t=6.0 mm | & 1
SS400 (FEFLAEEH Av¥)
AZ%’E\ t=6.0 mm % 1
ELZVIHER 1:3
mJ3 0.013
a7V —RMEIFL T | 2o 27— 2R LR ¢ 100~200
(BHRaT R T~ ) 1.=50~400 1L 1
TIRF R
kg 0.026
a7V —RIRVEEL ANTJ G5
m3 0.030
P T /NS
m2 0.090
a7 —k1L /NS )
m3 0.027

30



HAkEHEHH
FRA $5
(1) BEA - P % L
Hekbt Pl RRR & @
N=1
PEAkptE A2 BEB|+EnE R
N=1

A IE T

(2) PEAKE - BB RR B T
PEKE Pl
N=1
L=0.2+1.338+0.936

(3) Huft 4 B
P1FE SUS304 t=2.0 mm
N=1

A2f&H SUS304 t=6.0 mm
N=1

A2FEH SS400 (AR SN A~ F) t=6.0 mm
N=1

TR

2.474

1
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HAKEEIHEHE
(1) PUB R HE K
LA VHEER 1:3
X &Y
(0.052%0.397+0.080%0.106)*0.200

27U —MHIFLT. ¢ 102 1L=273 N=1
27— (BE a7 R - 7<)
HIl L2100 mmA = 200 mmPL F
HIIFLIZE50 mmEA £ 400 mEL T
B kv
1

TRFURE 1200 kg/m3
| &
7#%(0.112-0.102) 2/4%0.273%1200

(2) A2AB B FB R AKE
E)VAVHEER 1:3
X &b
(0.035%0.268+0.080%0.330)%0.200

a7 —RREEL
X i L0
0.250%0.600%0.200

TR T
RTTESY)
(0.200%0.250-0.100%0.050)*2

a7V —R T
X &Y
0.250%0.600%0.200—-0.050%0.600%0.100

TR

0.006

0.026

0.007

0.030

0.090

0.027

1

m3

fL

kg

m3

m3

m2

m3
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TR

§9. RExT
REIHELREE
Fii il gl il i o A S i fii W
PCHTHIER &5 1. e
(L.1=HrmH<1.5) m2 285
sAEA ()
m2 285
Pkl e 35 Pt 5
Hhm2 99
B FE G m
H 10




TRV -

RRTHEEHY

(1) PCHTAifE A 245 L
ey (L1=HrmH<1.5)
s ()
X1 &0
284.7 = 284.700 m2

(2) Mokl 2 %
P e 455

¥ 7
PG RIAL{RI
6.3%3.8 = 23.9 H#m2
PIAGRIA 21
14.3%4.045 = 57.8 Hm2
A2UEH

4.0%4.435 = 17.7 $tm2

> = 99.4 #m2



UINE
(3) ¥ 2
TG A
MRS R EM BN D A
s (1L1=HrEH<1.5)
284.7/38 = 7.5 H
R (W)
284.7/2217 = 1.3 H
> = 8.8 H
P1-A2DF iR TI2H0% B3
T AL
(61.28+0.69+0.78)/68 = 0.9 H
TR B
(61.28+0.69+0.78)/116 = 0.5 H
> = 1.4 H
REHE = 10.2 H

35



§10. XEFER

TR

REFERAH
ZWFHEE 1H2AN — 2 (AN/H)X 36 (A)[F£XY] = 72 (N)
[ ZEd FIRRITBE L 1
H B I8 B #E |eurvers|mks|zmee| BER) HE HE
PCHTHIfEH E% T | m2 285 38 1 - 1 7.5
(G an S 1A m2 285 2217 1 - 1 1.3
() LI #m2 100 61 | 7
V&t 11
e LT ET AT w | _60| 6] 1] | 1] 3 |mhomiE62.3mCRMm-2.0n L T)-60.3m)
INEH 3
T iR m2 63 85 1 - 1 1| Fifi 61.28m2 + Ficfflii 0.78m2 + Eyiedfl i 0.69m2
iR T R BAT m2 63 145 1 - 1 1|»
INE 2
HEAPE- Bk lwpr] of of o] o] 1
ERRE L INE 1
SfrL L C m2 23 213 1 - 1 1 | BRI EH
*;ﬁ T (2)E) m2 23 150 1 - 1 1|n
- %gé,;; g m2 23 300 N 1|n
% m2 23 300 1 - 1 1|n
INEE 4
HE T B T m2 241 1340 1 - 1 1
0]y m2 241 170 1 - 1 2
ST - | T A7 7/VNEE HEE | m2 241 2300 1 - 1 1
WEDIRL 7277 s 28| me 241 2300 1] | 1 1
X T m 152 1000 1 - 1 1
INET 6
st | (PR E U X T | m | 64 | 7.2 | 1| f| 1 9
Z L INEH 9
e &t 36
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PI~ROZEZEZTHE [REFEEOBHFHD-HDEH]

TR

1

HH vl Wr Im/1ASYEfEm2) & & B @IS m2) | Net
H—RL—/(P1~A2)
AR L=7.74+6.90-0.35 X 2 13.94 m
PR L=7.74+6.90+0.264 X 2 15.17 m
SREASL THiffin=4+_F#iflin=4 8 A
AR C 150 X 50 0.50 13.94 1 6.97
E—2A - W=350 0.88 15.17 1 13.35
Ban ¢ 115 0.33 - 8 2.64

x= 22.96

m2
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AEWRFE - 39

§1.BTEEET
MEEEIHREENR
VA WO AN Eg CES
B E m3 0.008
m3 0.008 FEAHHE
EEI?£ bz /,
(B L - B AR £ F720) Wrie e
(m3) (0.009)| (EAFE+0.18FTr)
g UNL m3 0.008 A
Comx /L& &t R m3 0.008




MESEIRENE

L WrEEE T EE L

(BRf Lo - BHERALEEE F7000)
KRG OMasFHE 2k L CEB SR I L7256,

BRI OB ERALEEZAT 9,

ARG -

) EFHER
(AR & (mm) | £ & (mm) [{E S (mm) | & P75] ARE (m3) | e (m2)
E T
FEAMT T ]
10 M7 R 600 320 40 1| 0.007680 0. 192
FAMT T fE 0. 007680 0.192
L TET 0. 007680 0.192
IS 0 A8 0. 007680 0. 192
(2) XFt =
(D FEFHER LY
V= = 0.008 m3
(3) WriE A i H &
MEbe 23 0,187  (RARHEIR2 11-2-(9)-9)
Wi= VX 1.18
=0.008X%1.18 = 0.009 m3
(4) AL
Q)R EICHE LW
oy U — Mk
V= = 0.008 m3

40



FERE - 41

§2. REMHRETL
FEGREIREER
% B B =<Kfva e T
T Hi AL m2 2.9
vt | LmfE| ERE | m2 2.9
iR | EET (Vv 1.9 ZuTF sk LCITH Y
FHER TIE
LR m2 59
TAWMER | T bErE | m2 59
Gt | BEL | ke 13 [ RIVEH =R 7L 79 240 Y4




FEWRME - 42

RERBINEHE

K HRTLIECLVETT S

1) > 0F(FaF 7 NI LCITHY)
(1) i T ifg

FmE
0.320%9. 210 = 2. 947 m2
> = 2.947 m2

(2) ERMIEHR
T 2% 1 0.66)ybr/m2 (B ARET)
Wa= 0. 66X 2. 947 = 1.945 )y hw

2) FABBERGRV N —R7 L7 Z2FEY)
(1) Jie T i f

k&
0.320X9.210X20 = 58. 944 m2
X = 58. 944 m2

(2) ERMHE
A BRYESR 1 0.22kg/m2 (1 AL Te)
Wa= 0. 22X 58. 944 = 12.968 kg



RENRME - 43

§3. KUIYERET

KO YEBREBEIHEER
% FR O ==¥va & e
JEE m 18 [ KB T AR 7 A4
IERE T
BN 2 H g 2 0.46
A A m2 0.46




KEIYBREIHEHR

JKE D 7% E

(1) L&
L=9.2X2

(2) & Hi g
A= 18.4X0. 025

(3) B Al
A= 18.4X0. 025

RENRKE

18.400 m

0. 460

0. 460

m2

m2
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§4. MBAIEART

RENRKE

WERAEERIKESRHR
4 B B % 2
R R T

45



FEWRAE - 46

WwEAEERIKESHE

AR i e T

it T i F
A= 0.930 X 11. 000+0. 815X 11. 120 = 19.293 m2



§5. i— FL—JLEUtARIL T

A—FL—ILERfEHRIL by FIREREHE

RENRKE

4 W

B

HAL

fii %

J—RL—/
B ARV b L

—

e — A IRATH
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RERIE - 48

H—FL—ILEREFRIL by FIHEFHE

B — A HUS

A = 1A



AEWRAE - 49
§6. HEITHZ - BEPIKI

WEIT|AT - BEMKIRERHE

LA Bk HALT S i 2
T 2T LN T P t=4cm m2 68
e t=4cm m2 68
T AT 7L NaAE HifS t=80mm m2 76
fET
EN m3 6
i B m2 63
foran
HKE $18 A UGN ATF | m 11
A 5mm/E (B — USSR DL )
EjZﬂ:/ H im#\j— Dg:3;)mm v m 22
o A S
Jﬁ:ﬁpB E fﬁﬂ}% - BilgOmm m 22
P HERRIN - PCIH %
AT 7 22— T t=40mm m 11 |5 s !
N Eiﬁﬂgﬂﬁ’ﬁ
5_ gl % (%7%7 ) m 23
i T PIRL e s
(AR m 7




AEWRFE - 50

HEITRAT - FEMKIHREHE

(D)7 A7 7V NafdE T
a)F)E
t=4cm
AR 6.605<9.87 = 65.2 m2
TRl AP TEER (D) E XD = 2.7 m2
>y = 67.9 m2
b) 3
t=4cm
FEHEIY = 67.9 m2
(2) T AT 7V NEfAE RS T
T AT 7 )V NS 2 T R
t=80mm
F& I 7K LA X1 (2) X 0 = 76.3 m2
T AT 7 )V NS R R
76.30.080 = 6.104 m3
(3)BHK
B R
AR 6.6059.87 = 65.2 m2
TRl AR K TEER (D) A X» = 2.7 m2
Yy = 67.9 m2
(DHEKE
O 18 ANXATIIRAT
TEWTHEACE

L = 10.79 m



AEWRFE - 5l

(B)RRTE H Hupt
S5mm/E (s — /L SSIR] % 5L BLE)
B=30mm
10.68+10.79 = 215 m

(6)vm i B 1AL
PUZA P SEAE 3 WS
B=150mm
AR H HbA T D) = 21.5 m

(D& Wr i A > 20— T

t=40mm

(8)1E P& A+ & ik L
EXTHT S
1.HAf W=15cm
1) BE S MAHR (AR
11.4+11.5 = 22.9 m

2) HLTE LR (RRAR)
4.7+1.8 = 6.5 m



§1. MRERERMBAT

ARG -

HEEERETI HESEHE
¥ &=
4 FR O BT
Al A2 A1-A2 &5

KEH #h m 8. 420 8. 660 - 17. 1
fHHEEEE IR R

#E B H m - - 11. 000 11.0

KC-A20-WGHH 24 m 8. 420 8. 660 - 17.1
fHE JE AN A

SC-A30FH 24 m - - 11. 000 11.0
#%frba 27 Y — K | o ck=24N/mm2 m3 0.586 0. 603 0.416 1.6

SD345 D16 t 0. 053 0. 054 - 0.11
R

SD345 D13 t - - 0. 044 0. 04

D16 A 168 172 - 340
ERT VT —

D13 A - - 144 144
=Lt L 0. 67 0. 66 - 1.33
Ny I T Tk VAT b L 1.41 1.38 - 2.79

MOBEME T, THEMICEEND,

52



RENRME - 53

fiERERET HEHET

LAGA
(1) i e =

(X[ & 1 L = = 8.420 m
(2) fHifE 2 B A A

KC-A20-WGFE Y4 & L = = 8.420 m
G #‘ITbar 7 V—1h

o ck=24N/mm2

V = 0.300 X 0.110 X 8.420 + 0.333 X 0.110 X 8.420 = 0. 586 m3
(4) 8

SD345 D16

W o= 8420 X 1.560 X 4 , 1000 = 0.053 t
(B) Z=fh T v H—

D16 (ctc200)

& El 8.420 , 0.200 - 42 A

n o= 42 X 2 = 84 A<
PRI 8.420  0.200 _ 12 A
n o= 42 X 2 = 84 A<

Al n = 84 + 84 = 168 A<
(6) > — /Lt

TR

V = 0.960 X 0.017 X 0.020 X 1000 X 1.200 = 0.39 L
AR

V = 0.690 X 0.017 x 0.020 X 1000 X 1.200 = 0.28 L
Al

Vv = 0.39 + 0.28 = 0.67 L
(NN 7T Tk

TR AR H

V = 0.960 X 0.017 X 0.050 X 1000 = 0.82 L
A H S

V = 0.690 X 0.017 X 0.050 X 1000 = 0.59 L
&



2. M2 &

(1) fif e i
i & v

(2) fffE R E A A

KC-A20-WGFH 4 5 L

BV #¥THbar 7 U—h
o ck=24N/mm2
V = 0.300 X 0.110 X 8.660 + 0.333 X 0.110 X 8.660
(4) kA5
SD345 D16
W o= 8660 X 1.560 x 4 , 1000
(5) &/ T > T —
D16 (ctc200)
Bwa| 8.660 7 0.200
n o= 43 X 2
FRARAE 8.660 7 0.200
n = 43 X 2
Al n = 8 + 86
(6) > — /Lt
AR
V = 0.930 X 0.017 x 0.020 X 1000 X 1.200
A H S
V = 0.690 X 0.017 x 0.020 X 1000 X 1.200
“F
V = 0.38 + 0.28
(NN 7T Tk
AR
V = 0.930 X 0.017 X 0.050 X 1000
A H S
V = 0.690 X 0.017 X 0.050 X 1000
“E
vV = 079 + 0.59

RENRKE

8. 660 m

8. 660 m

0.603 m3

0.054 t

43 K
86 A
43 K
86 A
172 A

0.38 L

0.28 L

0.66 L

0.79 L

0.59 L

1.38 L

54



RENRKE

3. fit H H1A1-A2

(1) {2 i At
Xk v L = = 11.000 m
(2) i dE E AR
SC-A30FH 24 & L = = 11. 000 m
B ®ITbar 27 U—F
o ck=24N/mm2
V = 0.210 X 0.090 X 11.000 + 0.210 X 0.090 x 11.000 = 0.416 m3
(4) 855
SD345 D13
W = 11.000 X 0.995 X 4 / 1000 = 0.044 t
(B) =R T v —
D13 (ctc300)
eV ]| 11.000  0.300 = 36 A
n = 36 X 2 = 72 A
B BRI 11.000  0.300 = 36 A
n = 36 X 2 = 72 A

arit n = 72 + 72 = 144



RENRKE

§8. {RE&T
REBEIHEETE
Fifi el il 53] psih K| AL | W L
PCH##E FH &85 1 e
(L1=#rmH<1.5) m2 99
s (M 1H))
m2 99

56



REWRAE - 57

RRTHEHH

PCHTHHIE ] 245 T

fieds (L1=HrmH<1.5)
A ()
1/2X (8.920+9. 125) X 11. 000 = 99.248 m2



REWRFE - 58
§9. XBFER

REFERAH
ZWFHEE 1H2AN — 2 (N/R)X 12 (A)[FREV] = 24 (N)
L2k FIRRITBE L 1
H H IiE B | #E |esrvsce|mkes|amez| sEn| B3 =
PCHTHIfEH ES T | m2 99 38 1 - 1 2.7
s i m2 9| 21| 1| | 1] os
INEH 3
B i BIH T m2 68 1340 1 - 1 1
FatiBh/K L m2 68 170 1 - 1 1
| st . | 727 7VNEEE HEE| m2 68 2300 1 - 1 1
& | BEPIKT (72751 pi 58| m2 68 23000 1] -] 1 1
X R T m 30 1000 1 - 1 1
VKt 5
g | ARSI X T | m | 28 | 7.2 | 1| f| 1 4
ZT I 4
e = 12




